HQOXX sERIES

IP67 DIE-CAST ALUMINIUM BOXES WITH DUAL
CONDUCTIVE AND CONTINUOUS SILICON GASKET

ETCHAIP6T™

CERTIFIED

PRODUCT INFORMATION

Material: aluminium alloy ADC-12 to Japan (JIS)

Wall mounting holes and fixing screws are outside the sealing area for real sealing Protection.
M4 countersunk stainless screws are included to seize the cover and the body.

With continuous silicon gasket to meet IP67 rating of waterproof and dust.

With conductive gasket for perfect EMI shielding protection.

Die-casting mounting bracket (ALMF-001) is available.

LIGHT GREY(LG), BLACK(BK) OF POWDER COATED ALUMINIUM ENCLOSURES ARE
AVAILABLE FOR ORDERING .

JUST NEED TO ADD THE COLOR CODE AFTER THE ITEM NO.

Ex: HQ001SLG , HQO003SBK , HQ005SLG ,HQ007SBK

05



HQOXX SERIES

PRODUCT INFORMATION

MATERIAL: Aluminium alloy ADC-12 to Japan (JIS) — EXTERNAL DIMENSION(mm)

Wall mounting holes and fixing screws are outside the sealing HQO001 96 x 96 x 45

area for real sealing Protection. HQ003 96 x 96 x 67
M4 countersunk stainless screws are included to seize the HQO005 192 x 96 x 45
cover and the body. HQ007 192 x 96 x 67
HQO009 274 x 173 x 66
LIGHT GREY(LG), BLACK(BK) OF POWDER COATED HQo11 274 x 173 x 100
ALUMINIUM ENCLOSURES ARE AVAILABLE FOR ORDERING. HQO013 150 x 100 x 50
JUST NEED TO ADD THE COLOR CODE AFTER THE ITEM NO. HQO015 150 x 100 x 75
Ex: HQO01LG , HQ003BK HQO16 152 x 112 x 30
HQO017 200 x 150 x 50
@2 HQVO1BK [ Content J3[0K HQ019 200 x 150 x 75
~ HQO021 200 x 150 x 28

HQ023 152 x 112 x 55
HQ025 162 x 162 x 55
HQ027 162 x 162 x 80
HQ029 202 x 142 x 55
HQ031 202 x 142 x 80
HQO033 262 x 182 x 55
HQO035 262 x 182 x 90

06



HQOXXS SERIES

PRODUCT INFORMATION

Material: aluminium alloy ADC-12 to Japan (JIS)

Wall mounting holes and fixing screws are outside the sealing
area for real sealing Protection.

M4 countersunk stainless screws are included to seize the cover
and the body.

With continuous silicon gasket to meet IP67 rating of waterproof
and dust.

LIGHT GREY(LG), BLACK(BK) OF POWDER COATED ALUMINIUM
ENCLOSURES ARE AVAILABLE FOR ORDERING .

JUST NEED TO ADD THE COLOR CODE AFTER THE ITEM NO.
Ex: HQ005SLG ,HQO007SBK

HQ007S

Silicone seal

ITEM No.

HQ001S
HQO003S
HQO005S
HQO007S
HQO009S
HQO011S
HQ013S
HQO015S
HQO016S
HQO017S
HQ019S
HQ021S
HQ023S
HQ025S
HQO027S
HQ029S
HQO031S
HQO033S
HQO035S

EXTERNAL DIMENSION(mm)
96 x 96 x 45

96 x 96 x 67
192 x 96 x 45
192 x 96 x 67
274 x 173 x 66
274 x 173 x 100
150 x 100 x 50
150 x 100 x 75
200 x 150 x 28
200 x 150 x 50
200 x 150 x 75
152 x 112 x 30
152 x 112 x 55
162 x 162 x 55
162 x 162 x 80
202 x 142 x 55
202 x 142 x 80
262 x 182 x 55
262 x 182 x 90

07



HQOXXEMS SERIES

PRODUCT INFORMATION
Material: Aluminium alloy ADC-12 to Japan (JIS)

Wall mounting holes and fixing screws are outside the sealing — EXTERNAL DIMENSION(mm)

area for real sealing Protection. HQO01EMS 96 x 96 x 45
M4 countersunk stainless screws are included to seize the HQO03EMS 96 X 96 x 67
cover and the body. HQOO5EMS 192 x 96 x 45
With continuous silicon gasket to meet IP67 rating of HQOO7EMS 192 x 96 x 67
waterproof and dust. HQO009EMS 274 x 173 x 66
With conductive gasket for perfect EMI shielding protection. HQO11EMS 274 x 173 x 100

HQO13EMS 150 x 100 x 50
HQO15EMS 150 x 100 x 75
HQO17EMS 200 x 150 x 50

LIGHT GREY(LG), BLACK(BK) OF POWDER COATED ALUMINIUM
ENCLOSURES ARE AVAILABLE FOR ORDERING .
JUST NEED TO ADD THE COLOR CODE AFTER THE ITEM NO.

Ex: HQO01EMSLG , HQO03EMSBK HQO19EMS 200 x 150 x 75
HQO16EMS 200 x 150 x 28

HQOO05EMS HQ021EMS 152 x 112 x 30

HQO23EMS 152 x 112 x 55

HQO025EMS 162 x 162 x 55
HQO027EMS 162 x 162 x 80
HQO029EMS 202 x 142 x 55
HQO031EMS 202 x 142 x 80
HQO33EMS 262 x 182 x 55
HQO035EMS 262 x 182 x 90

Silicone seal




Wall Mounting Bracket

For HQOXX & G1XX series of aluminium boxes use

ALMF-001 ALMF-001LG ALMF-001BK

ALMF-001 ( 1 set ) includes

4 pcs of mounting brackets & 4 pcs of M5 X10 mm

self-tapping screws.

Black & Light grey color of wall mounting bracket
are available for ordering.

Ex : ALMF-001BK , ALMF-001LG

EXTERNAL ( 1 [ )
TEMNo. 1 piMENSION(mm) -0
ALMF-001 53 X 20 X 9 b \}
J
6103 HQOO3LG G103BK
with ALMF-001 with ALMF-001LG with ALMF-001BK
(Light grey) (Black)
my
IR Nl
JEE G
EElL

1

09



99.2
96.2
87.9
LID w9
79.3
6.3 DIA 3.2mm * 8mm DEEP (4) PLACES
o ACCEPT M3.5 * 6mm GROUNDING SCREW
62
A 15
12
% D L = - DETAIL A-A
7‘ C = 10
E& o o rj—»ﬂ
scarawaicd |8 |
SRS - <IN I 4 @@
< !
ow 44 o i
RNl E | DETAIL B-B
Y == ﬁ‘
B . 1 =
I B -
o o N :
£ 15 B r i 2
D
n
84.6 o %I%
” 96.2 ‘
byl il DETAIL C-C
N R e 1]
Al S 2T by T
@ M J _j & 1 FOURM) M4 x 20mm (0.787") LG, SCREWS
i & - SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
m ) ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE
ALL OTHER DIMENSIONS HAVE +0.30 mm TOLERANCE
ITEM NO DESCRIPTION
BASE HQ001 Natural Aluminium Box (without the gasket)
HQo01S IP67 RATING (with the silicon gasket)
9 2 HQO01EMS | IP67 RATING (with the silicon & Shielded gasket)
96:2
89.2
84.6
83.6
80.6
75 A DIA 4.5mm * 8mm DEEP (2) PLACES
7 Qb'% 1 ACCEPT M5 * 10mm GROUNDING SCREW
. 6
C AT s
%g"lﬁ
¥
= o8
D] = (
B | B
B RS R B I R DIA 3.2mm * 8mm DEEP (6) PLACES o
a8 3 I ]S R - ACCEPT M3.5 * 6mm GROUNDING SCREW & g
@ | g5 25 |
2 BE .
q © =
fiOL :
‘ ) %
Y Ay
S -
L G i B NN C-C
96.2
- 2.8
| e 2.8 M4*0.7 THREAD (4) PLACES 8
l 28 s
[T 100
0 4 HP ‘N
] } 2.5 { - %f // m %I%
T el FRENTTITT & '
LTy e L
1WA

DETAIL A-A DETAIL B-B

DIA 4.5mm * 8mm DEEP (2) PLACES
ACCEPT M5 * 10mm GROUNDING SCREW



HQ003

99.2
LID 56.2 FT—»“’ Fﬁ
87.9 ’*ﬂ [‘ 3.2
84.9
79.3 mi // b %I%
7.3 I
72
2 DETAIL A-A DETAIL B-B DETAIL C-C
'\ 15
12
A > D | ||l I
a ) P Iy
N C - 3
N&; <l | 3
60 B ;
C DA 3.2m * Sm DEP ¢4) PLACES i
o N O\o\. MM[\ — . §8 ACCEPT N3 5 *6mn GROUNDING SCREW DO -~ } « N
5% &8 g[S BRI IZAN Y -} ® B I &
! et
YA*A‘ — = B ,,L
OIJA/ : = * i
I B } o
ot = il
2 ® B g
P e D-D
84.6
2 96.2 ‘
.j f 1T —— ‘ 1> FOURMD M4 x 20mm (0.787") LG, SCREWS
w9 T T ‘ Il nEmls SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
e . SREEPE s 2) ALL HOLE DIAMETERS HAVE £0.10mm TOLERANCE
o ® R & ALL OTHER DIMENSIONS HAVE £0.30 mm TOLERANCE
o =
ITEM NO DESCRIPTION
BASE HQo03 Natural Aluminium Box (without the gasket)
HQO03S IP67 RATING (with the silicon gasket)
99,2 HQOO03EMS | IP67 RATING (with the silicon & Shielded gasket)
96,2
89.2
84.6
8.6 DIA 4.5m * Som DEEP (2) PLACES
8256 . ACCEPT M5 *10mm GROUNDING SCREW
12 Q\b':ge 52
)
- C || 0 %
A P aa N
ﬁr
4 B B DIA 3.2mm * Som DEEP {6) PLACES b
;; ; ;: e s e | ACCEPT M3.5 *6am GROUNDING SCREW Q
[ ‘ 48 :% 2'5 .
" B
i S = '
T S R Oy
= )3 =
y%/ i : - '/'////////////////////////////////////////////////
e ™
5
R NN c-C
96.2 ‘
~ 2.8 DIA 4.5m * Sam TEEP (2) FLACES
ml ml = 98 ACCEPT NS *10mm GRONDING SCREW
I 0] M4*0.7 THREAD (4) PLACES 8 4
Iy i 2
zs L 1y 1
N b oo ” é %
\\@j
777 DETAIL B-B
A =T
L A




12

HQO005

LID
192
185.70 10 8
182.70 ’tﬂ rﬂ
177.10 7 4: %I%
10 4 @0 A0
DETAIL B-B DETAIL C-C
) ©) (]
B
=t} HOO0ST-2007/11 Sl 2.5
100 =l 96%192%15 mm B =
0 IR
ESR § 5 E E; 149.8 < ; ; ;
=T 159.8 2 | &
¢ 4 <
: \\ i 2.5 i /
[ AP 3.5 "omn GOOOLE SO SN e
% 1‘54><7 8
-+ 67.9 - 2.8 / L
135.8
159.8 1) FOURM) M4 x 20mm (0.787") LG, SCREWS
" SUPPLIED FOR ASSEMBLY 0OF COVER TO BODY,
ﬁj 2.5 — « 2) ALL HOLE DIAMETERS HAVE *010mm TOLERANCE
{ i | I - i ‘ ALL OTHER DIMENSIONS HAVE *+0.30 mm TOLERANCE
e A‘t [ H [ [ H [ [ I [ ]
- f l i — ) = = ,J,J ITEM NO DESCRIPTION
W f 174.8 HQO05 Natural Aluminium Box (without the gasket)
HQO05S IP67 RATING (with the silicon gasket)
HQOO05EMS | IP67 RATING (with the silicon & Shielded gasket)
BASE
193 g
187.00 M4*(Q,7 THREAD (6) PLACES -
181.40 -
178.40 I 7 W
_i o »
172.80 a é %
A 169.8 22 &
ey > L DETAIL A-A DETAIL B-B
A g ~
5B 2007/ 1 -
ﬁi om0 m a6 | y - T
- 156 -
B 2 DIA 3.2m * 8mm DEEP (8) PLACES 1o TS
ol olal o 16 ~ ACCEPT M3.5 *6mm GROUNDING SCREW |
g ST == = ! - .
O GO| 00| O~ niul 7 : Q‘ 100 If ; ‘[777
A | 48 =
i {5 r : [— %
[ — %
: ¥
m‘ 67.9 i c— =
27.1 ‘ 135.8 c-C
DIA 4.5mm * 8mm DEEP (2) PLACES 9.8
W o ACCEPT M5 *10mm GROUNDING SCREW ZW
& L l )
RS ——— =] [0y
. P L) L B
: 2.5 | b T Lm*m ST
Pilllleo 1] ® e Ll
a1 174.8 i EEE




HQO007

LID

192
185.70 10 8
182.70 «E—> 1.2
171.10
174.10 - I -
169.8
DETAIL B-B DETAIL C-C
) ()
B =
st HO0ST2007/11 =L 25
100 <! 96X192X15 mn B -
L™
140 %
BR ol ol 149.8 < g o | ©
159.8 2. i @q,
¢ ¥ IR %
) \ i 29.9 | /
DIA 3.2mm * 8mm DFEP
AC(E;T M3.58*6mm mglb;ggv A ( @F = ( - S:
) ‘
J i = A B
- 67.9 4.6 - —
135.8
159.8
" 1> FOUR4) M4 x 20mm (0.787"> LG. SCREWS
*'l 25 - © SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
& g i - “' ‘ 2) ALL HOLE DIAMETERS HAVE 20.10mm TOLERANCE
0 [l [ T7 ] [ 17 T [ TT 77 ] ALL OTHER DIMENSIONS HAVE *0.30 mm TOLERANCE
o ﬁ ‘ =N =N =N
Cord * as ITEM NO DESCRIPTION
HQ005 Natural Aluminium Box (without the gasket)
HQ005S8 IP67 RATING (with the silicon gasket)
HQOO05EMS | IP67 RATING (with the silicon & Shielded gasket)
BASE
192 g
187.00 M4*(.7 THREAD (6) PLACES \s
181.40 o
178.40 T 7 W
i »
172.80 % %
o 1098 oq‘:b . ®
!, % ™ -
(2 ©F C%\ DETAIL A-A DETAIL B-B
i 3 Iy T = bz’ 2
HQOOSB 2007/11 -
T 96X192X30 om  24.6 - J 34L »‘c::
ﬁ-»iﬂjB: DIA 3.2mm * 8mm DEEP (8) PLACES 1.9 E -
2l <l gl gk 16 o ACCEPT M3.5 *6mm GROUNDING SCREW | S ) .
NN Hlelg ek »@7: 100 il o &
- P i
A~ | £ =
1 I oy
— :
—
o
I 67.9 ‘
27.1 ‘ 135.8 c-C
DIA 4.5mm * 8mm DEEP (2) PLACES 9.8
- ACCEPT M5 *10mm GROUNDING SCREW 28.4.' =
- L i\““ T ] | ] [ “‘\ “r_-j
| LT i i
) 4>2'5 = rmmm LFTW T
L[ e i ® il e i
tEN 174.8 f | e &

13



14

HQ009

LID
274
261.9
264.9
259.3
256.3
25 2
I
ol 11 = © B =
A ,Hv I < ] BN TR B 2.5
ot | ¢ 182.2 X \%
.3
23
24
&8
L
DIA 3.2mm * &mm DEEP (8) PLACES §§’§
o, ACCEPTM3.5 36m GROUNDING SCREV ™% g%
8 |
?‘//ﬂ Lt L =) A
9126 //J s
b DETAIL C-C
1> FOUR4) M4 x 20mm (0.787"> LG. SCREWS
SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
2) ALL HOLE DIAMETERS HAVE 20.10mm TOLERANCE
ALL OTHER DIMENSIONS HAVE #0.30 mm TOLERANCE
ITEM NO DESCRIPTION
HQ009 Natural Aluminium Box (without the gasket)
HQ009S IP67 RATING (with the silicon gasket)
HQOO9EMS | 1P67 RATING (with the silicon & Shielded gasket)
BASE
774
269.2 DIA 4.5mm * 8mm DEEP (4) PLACES
;gg: ACCEPT M5*10mm GROUNDING SCREW
i 6
- 12
2 ) ] o :\
T T FOUOOE 2007711 ' T S
E\@* 8 DIA 3.2m * Sm DEP (12) PLAGS | }:j( 25
. ACCTPT M3.5 *6mm GROUNDING SCREW e e
e 109 109 +—| = =
5 >
ke ol - & 230.2 |10 & ﬂff
Sggeld = s 5 — = B =
T 16 | o - -
4%4.9 ] . 182.2 34.@* = =
::I\L %3 B 8
| ' ="
q S g —H
t ! ﬂ j m‘
w /v B :
2s M4*0.7 THREAD (6) PLACES ,
DIA 4.5mm * 8mm DEEP (4) PLACES 2
o ACCEPT M5*10mm GROUNDING SCREW 28 4 70 A
l oy ‘ ——— 1 ‘2"81 o DETAIL A-A DETAIL B-B DETAIL D-D
5 u\ &
© 2.5 |1 &
@
i o .
7.5
- 257 et




HQO011

LID 274
261.9
264.9
259.3
256.3
252
D
/5 ® P
! n
1 i s
ST : Al
A | | N
.9cC | C 182.2 8 1y
2333
23
241
o ONON Y| Y o
2| 2 @l gl v o T #
TS EE DS a7 o
o
o€
ol
R
DIA 3.2mm * &mm DEEP (8) PLACES 2 §§'§
£
ACCEPT M3.5 #6mm GROUNDING SCREW ¥ 2=
BE
L REET)
I =
97128 //
D
108 109
=
(]
4
269.2
265.6
260.6
255
257
2 ==
=T = A | Al HQO1IB 2007/11 P
R ° 13074380 1]
N, g
S DIA 3.2mm * 8mm DEEP (12) PLACES
“Aig ACCERT M3.5 *6mm GROUNDING SCREW | o | |
: b —
o =
10.5 1 ) 230.2 g
8le gaain 2 S 7 =
el .
3.9 182.2 34,8
S 8 =
B - L & |
41y = \/ES//
7 ¥
1 L
bt ¢
24
DIA 4.5mm * 8mm DEEP (4) PLACES
ACCEPT M5*10mm GROUNDING SCREW 2.8
U\\ T T T T T 2Is\ )
o p T e—| s &
2.5 | &
2
257 %
o m TN
v lL1.8

16.2
20
2l (2.5 DETAIL A-A
",
10
3.2
2 DETAIL B-B
8
3.2
®F 4
§7 /
= i::}‘ DETAIL C-C
1.5 ,‘
1

D FOUR(4) M4 x 20mm (0.787") LG. SCREWS

SUPPLIED FOR ASSEMBLY OF COVER TO BODY

2) ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE

ALL OTHER DIMENSIONS HAVE £030 mm TOLERANCE

ITEM NO DESCRIPTION
HQO11 Natural Aluminium Box (without the gasket)
HQO11S | IP67 RATING (with the silicon gasket)
HQO11EMS | P67 RATING (with the silicon & Shielded gasket)
DIA 4.5mm * 3mm DEEP (4) PLACES
ACCEPT M5*10mm GROUNDING SCREW
80
%
E: f
il 2s
£ =
-
1. =
E =
8 |—
ﬂEJ =
M4*0.7 THREAD (6) PLACES , == 1o
16.2 B '” W 4.5
of ] ‘
DETAIL A-A DETAIL B-B TETAIL D-D

15



16

102
100

HQ013

LID

150

143.7

140.7

135.1

132.1

127.8

93.7
90.4
85.1
82.1
71.8

67.8

HQO13T 2008/2

1G0X150X15 mm

Cl||C

——

37
117.8

98

49

DIA 3.2mm * 8mn DEEP (4) FLACES
ACCEPT M3.5 *6mm (ROUNDING SCREW

5
o

93.9

15
12
1
r

BASE

132.8

150

145

139.4

136.4

130.8

127.8

93.9

102
100

95

[P}

89.4
86.4
80.8

71.8
67.8

HQO13B 2008/2

100X150X35 mm

63.9

3

——

DIA 3.2mm * |8m DEEP (6)

A

DIA 4.5mm * 8mm DEEP (4) PLACES

- ACCEPTMS*WI\GSCREW
JJL T ] I
; Tr# — =
) SIS J }m‘m T N
o6 Jl‘ B R nTEmEE ‘H
- Y

~&

82.8

1.3

1> FOUR4) M4 x 20mm (0.787") LG. SCREWS
SUPPLIED FOR ASSEMBLY OF COVER TO BODY,

2> ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE
ALL OTHER DIMENSIONS HAVE #0.30 mm TOLERANCE

ITEM NO DESCRIPTION
HQo013 Natural Aluminium Box (without the gasket)
HQO13s IP67 RATING (with the silicon gasket)
HQO13EMS

IP67 RATING (with the silicon & Shielded gasket)

M4*(.7 THREAD (4) PLACES & 3.2

wy
=0

&
DETAIL A-A

g
DETAIL B-B

10 8
R e *’\%%V“
DETAIL B-B DETAIL C-C



HQ015

150
LID 143.7
140.7
135.1
132.1
127.8
©)]
HQOLST 2008/2
100K150K15 wm
19 :
= ¢l |c
slgl 53 2o g = 117.8
S5 R R RS 98
=A)
¥ DIA 3.2m * Smn DEEP (4) PLACES
HOCEFT 1.5 “6an GOUNDING SCEY
%V} ~ i
B
WW 93.9
o A A
; HL» 2.5
N T B 2 = TR
Qﬁt I L Ju “K K \ i WJJ}
>
o~ 132.8
150
145
139.4
136.4
130.8
127.8
\A A 93.9 n
| ~
HQO15B 2008/2 :;t |
100X150X60 mms a
§
DIA 3.2mm ™ |8mm DEEP (6} CES
ACCEPT M3.5 |*6mm GROUND SCREW|
63.9
88 %2 g 5 o o 3 30
o0
19
N ! 0
e @
DIA 4.5mm * Smm DEEP (4) PLACES
* "‘L ACCEFT M5%10mm GROUNDING SCREW
[T} I
o
3

10

N

1.5

82.8

3.2

=}

DETAIL C-C

D FOURM M4 x 20mm (0.787") LG, SCREWS
SUPPLIED FOR ASSEMBLY OF COVER TO BODY,

2> ALL HOLE DIAMETERS HAVE #010mm TOLERANCE
ALL OTHER DIMENSIONS HAVE *+0.30 mm TOLERANCE

ITEM NO DESCRIPTION
HQO015 Natural Aluminium Box (without the gasket)
HQO0158 IP67 RATING (with the silicon gasket)

HQO15EMS | IP67 RATING (with the silicon & Shielded gasket)

60

s
oG

&

DETAIL A-A

M4*(.7 THREAD (4) PLACES

77\43/%_‘ 3.2

(e R
DETAIL B-B

17



HQ016

18

LID
- 200nn [7874in ] -
4 179.32mm [7.060in | - SIXEMAXLO mm
FLAT HEAD SCREWS
7emm [2.835in] . 72mnm  [2.835in 148mm [5.827in ]
A
S 8 ord O) x A@
© © 0 i il 1)
[ 7 \
| |
HQ0I6T  2009/12 R
200X150X14 mn R
< < —
=22 e
B 0| 1) 2
oD
= £| £ 0
N
95 & e £
?j - QM‘N\ o
~ e e o I
l<slgls lig I
C | g g i Py
%37 o o ! EEEE
) ‘ ‘
EEEE
ot D
ElE
BASE L] i
SECTION A-p
200nn  [7.874in ]
179.32mm__[7.060in ] -
. /2mm [2.835in [, _ 72nm [8835in}i‘ . 167.80mm  [6.606in ] o
B t
=L AN ’ : e {2} R
(, N\
of HOOGE 2009/12 [© fo) 0
200X150X14 mm
167.80nn_ [6.606in ] S &lsl 55 S =
N 3SR RB ©
Bl B ) T (el ) =
= = £ p = = £
= E S5 S E £
B & o B 5 & @
g5 a 3 =
[® éu% £ SD
G 25 S
= 2| &
H5 &
o] cO| —
C
. 27.83mm [10%6in ] 1 Y
— | °386mn [0.939in | A (@ﬁﬂ
SECTION B-B

[0.295in |
[0.056in |
[0.197in ]

omn

7.50mm
1.42mm

g
Y

E: SECTION C
SECTION 2+ 1

D FOURM4) M4 x 20mm (0.787") LG. SCREWS

SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
2> ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE

ALL OTHER DIMENSIONS HAVE £0.30 mm TOLERANCE

ITEM NO DESCRIPTION
HQO016 Natural Aluminium Box (without the gasket)
HQO016S IP67 RATING (with the silicon gasket)

HQO16EMS | IP67 RATING (with the silicon & Shielded gasket)




HQO017

P 10 3.2 8§ _ 32
200 %L %
LID 193.7 < 77
0 o - 00
ggé DETAIL A-A DETAIL B-B DETAIL C-C
‘ 7 - 72
/é/\ ) =]
JEJhC! e Q =
10] | | A
i c | c
100
~| ~|—| —| oo| a0 =
bl R & 2
NI B I st 148 o
@‘ DIA 3.2mm * 8mm DEEP (6) PLACES
/ AQCEPT M3.5 *6mm GROUNDING| SCREW
L 50 ~dJ, SiE
] e £
A A —
jK 2.5
.,j ‘ I T I T 1) FOURM) M4 x 20mm €0.787") LG, SCREWS
2[:“1 I L A J { P J { -4 J‘ SUPPLIED FOR ASSEMBLY 0OF COVER TO BODY,
2) ALL HOLE DIAMETERS HAVE #0.10mm TOLERANCE
r:( & ALL OTHER DIMENSIONS HAVE +0.30 mm TOLERANCE
- 182.8
ITEM NO DESCRIPTION
HQo17 Natural Aluminium Box (without the gasket)
BASE HQO17S IP67 RATING (w?th the s?l?con gaskfet)
HQO17EMS | IP67 RATING (with the silicon & Shielded gasket)
200
195
189.4
186.4
180.8
177.8
‘ 2 ‘ 72
@ m \C =
= Al i J
10
= - 164 Bl
= DIA 3.2mm * 8mm DEEP (8) PLACES
% % ACCEPT M3.5 *6mm GROUNDING SCREW
X =] > =
| o v S| X o0 oa) 0a B - 100 3 - 2
LR EEE T o = @ =
lo— Rl o f
3 o =
Hid|| ||
BUARY -8
- —_ p
o ZZ
‘A A c c-C
35
vy o DIA 4.5mn * 8mm DEEP (4) PLACES 2.8 28
g | ACCEPT M5*10mm GROUNDING SCREW w 3.2
e ] I ] I M4*0.7 THREAD (6) PLACES -
T J ———; = o
1 v 7z v
= % 1
i & [B——)
i DETAIL A-A DETAIL B-B
P 182.8




20

HQ019

LID
200
193.7
190.7
185.1
182.1
177.8
| 72 72
oE I&eﬁl S ©)
100
O~ O~| | v 0O|C0
2 HFgsnnny N
Q¥ DIA 3.2m * 8m DEEP (6) PLACES
/ ACCEPT|M3.5 #6mm GROUNDING SCREW
<) o g
e x ©) 8 o
|
A A
ln_k 2.5
o S AL L] il
e (1 &
— 182.8
BASE
200
195
189.4
186.4
180.8
177.8
‘ 72 72 |
] N N
= g - wmm ()
ILON oo 164
Y DIA 3.2 * S DEEF (8) Ml
| ACCEPT M3.5 "S5 GH]WD@ZREW
é \ s ||
ol o o] | | [ g% B < 100 H‘ ]
R e R T - S =
e )
:‘ Lf: o
- VEJ, @
le 8
=] = Jﬁf
* o
s ‘A c
DIA 4.5mn * &m DEEP (4) PLACES
- ACCEPT M5*10ymm GROUNDING SCREW
| .
L = =
2
w‘ iiil oof i
f
Jlas 182.8

DETAIL A-A

2 10 3.2
e
o

DETAIL B-B

DETAIL C-C

77777

132.8

D FOURM) M4 x 20mm (0.787") LG, SCREWS

SUPPLIED FOR ASSEMBLY OF COVER TO BODY,

2> ALL HOLE DIAMETERS HAVE *+0.10mm TOLERANCE

ALL OTHER DIMENSIONS HAVE £0.30 mm TOLERANCE

ITEM NO DESCRIPTION
HQO019 Natural Aluminium Box (without the gasket)
HQO019S IP67 RATING (with the silicon gasket)

HQO19EMS | P67 RATING (with the silicon & Shielded gasket)

i =0
N
e =
S =
8.5 | |
60
M4%*0.7 THREAD (6) PLACES 3.2
«’Pj,_’_;
wy 9]
~
8
DETAIL Ajpe DETAIL B-B



HQ021

LID
130mm  [5.118in ]
: = FOURMA) MAX20 mm
Lienn_ [4.567in ] FLAT HEAD SCREWS
112mm  [4.409in ]
90nn_ [3543in | 70.09mm [2.759in]
A .
r i V.
i -
——— £ SECTION C-C
S { -
O — | O —
feliiniiie) <
55 £ “
E|E|E EEES S =
o8 Siisifis RS A = _
5 3 f 2522 & £
I~ = dee , I &
! 5| £ &)= “
m 1
B B ) =
‘ ‘ ‘ Lﬁ“ 1@ SECTION D-D
ERN SECTION A-A
BASE
e 130nm [5.118in ] —
onm  [4567in ] . 15m[0591in]
112mm [4.409N ] - Smm [0.197in]
90mm  [3.543in | 8mm [0.315in]
8315mn [3.274in] 75mn_[2953in ] | 2.50mn [0.098in]
e — *B
SR \ o
é -+ N | %
1+ +HiT <  jpm o
< i P
s SR
= || =Bl
= £ | =
& 58558
= S|Z| 3|5
¥
& '
-
| ! ]
SECTION B-B
e 30mm [1181in ]
25mm [0.984in]
E
°] — e 3rM [0.118in ]
\ - 1.50mm  [0.059in ]
@ D FOUR4) M4 x 20mm (0.787") LG. SCREWS
SUPPLIED FOR ASSEMBLY [OF COVER TO BODY,
2) ALL HOLE DIAMETERS HAVE £0.10mm TOLERANCE

ALL OTHER DIMENSIONS HAVE #0.30 mm TOLERANCE

ITEM NO DESCRIPTION
‘ HQ021 Natural Aluminium Box (without the gasket)
T 8?1781” HQO21S | IP67 RATING (with the silicon gasket)
HQO21EMS | IP67 RATING (with the silicon & Shielded gasket)

SECTION E

;%? SCALE 21




LID - 130mn [5118in ] -
16mn  [4.567in | FOURCA) MAX20 mm
[2mn (4405 ] FLAT HEAD SCREWS
90mm  [3.543in |
70.09mm [2.759in]
‘ A “‘
! rovi ﬁ@) !
- i
o | A S
W :
=T O — —
o2 Seiiaite)
T £
;s EEE N &
o 83| £l il 5|5 =
& : ' EEE JER
N o2 T
— ||y
BASE oy
| - _
1= 4]
Y SECTION A-A
- 130mm [5.118in ]
116mm  [4.567n ] |
112mm [4.409in | —_ 40mm[1575‘m]
. 90mm_ [3.543in | Bmm [0, 315@}
75mm [2.953in | | - S5mm[0.197in]
] - 81.41mm [3.205In] | ‘ 48 S0mm [0.098in]
“ ‘\‘ \} v %
L = A I + @ =
D4> @ s o {1+ + g g
5 SIS 3
% EEREE £
7 | ES sl S,
& &

Ve

/

i

i)

)

I
A

+

L
&

C -5
SECTION B-B
59mm[2.165in]
S0gn[1.963i
s
[iplNip!
. L =&
| = 1 FOURM) M4 x 20mm (0.787") LG, SCREWS
E . Sl SUPPLIED FOR ASSEMBLY OF COVER TO BODY.

2> ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE
ALL OTHER DIMENSIONS HAVE £0.30 mm TOLERANCE

J—
—=

i ITEM NO DESCRIPTION
SECTION C=C “ “ SECTION D-I HQ023 Natural Aluminium Box (without the gasket)
HQ023S IP67 RATING (with the silicon gasket)
E HQO23EMS | IP67 RATING (with the silicon & Shielded gasket)




HQ025

131 41mm

[5174in ]

A

J;

J—
—1

LID
12009mm  [4.7P8in]
’@ ‘
W
1 ©)
= .
<
(o]
[qul]
‘A ‘A =
£
= £
&l s =
212188 S
L ©)
HEEE 57
D o © £ T
~ D D T
g [qul]
| W‘ =
1=l 1]
| 1 SECTION A-A
BASE
180nm  [7.087in ] _
166nn_ [6.535in ] SIX(B) MAX20 mm
= 162nn_[6.378in | | [FUAT HEAD SCREWS
140nm _ [5.5121n _
O
- Pt
évi ‘
gaipn s pm g =
s &
O D|M|in| S @
sz ~r| 0] 0] 0|~ ~
N (= EEE £
3S =1 il Seliefyes =
. > I
! “Vv" i
|
S5mm[2.165in] - A0mn [1575in ]
— — . 8.50nm [[0‘3351%}
‘ -— 8mm_ [0.315in
Lonitse 250 [0.098in |
N
%u B %r‘ o
{ e
™
£
s
(00)
Egzinggii SECTION €-C

SECTION B-B

Jr
T —
<
=
™
el
£
b
=
&
L -
) A
- 180mm_ [7.087in ] -
- 166mn  [6.535in ] —
- 162nm  [6.378In —
- 140mm [5512In ]
S I
R
i1
S A
2 |
124mn_ [4.8820n ] <l el <
- il
& LD 0|0 S
z (o1l ICR Aol NS Rl
%5 s| E| | €| €| &
S S E 85
||| L9 @
N A
7 Y
1Y ‘

D FOUR(4) M4 x 20mm (0.787") LG. SCREWS
SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
2) ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE

ALL OTHER DIMENSIONS HAVE #0.30 mm TOLERANCE

ITEM NO DESCRIPTION
HQ025 Natural Aluminium Box (without the gasket)
HQ025S IP67 RATING (with the silicon gasket)

HQO25EMS | P67 RATING (with the silicon & Shielded gasket)

23



HQ027

LID 180nm _ [7.087in | — SIXE) MAXR0 mm
166mm  [6.535in ] FLAT HEAD SCREWS
162 [6.378in ] -
— 140nn_ [5502in ] _ . 12009nn_ [4.728in ]
i o) )
“ \
<
S T A A S
SlclEelgls A ™~
I sl5gsls ; =
o2 Tl MmN S
=5\l = wlo)0) =
2 =
i an
=3 | £ £ £ £ ] — o
73 S5 &5 8 <=l << S
=|S|B|5| 2 %3%% 1.
5 } EEEE o)
LY gl ge g’ I
1y = il
° Y aj o
BASE ! - .
= =
REW! B
- 180nm_ [7.087in] SELTION A=
- 166mm  [6.535in ] -
- 162 [6.378in ]
- 140nn__[5512in | 12966mm  [5105n ]
|- B
o ‘ ‘
| &F = | | ﬂ |
= + E —
— 174mn [4882In ] g N O T <
= clc o<l 8
. | &
e =5 < || D] ™| S o
— = | < || o~
S 1 =
£ M= 0 I B
r BN I= b b \Q
= Il EEEEE a
A |
%Hi‘ 4 | i
l Enr V L |
v 7
||
80mm [3.150in] 4_ - 65mm [2.559in]
- — — 8rmm [0.315in ]
75mm [2.953in] - 850mm [0.3351n]
. 2.50nn [0.098in]

o

I

v

1> FOURM) M4 x 20mm (0.787"> LG SCREWS
SUPPLIED FOR ASSEMBLY OF COVER 10O BODY,

2> ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE
ALL OTHER DIMENSIONS HAVE £0.30 mm TOLERANCE

8mm [0.315in ]

Y ITEM NO DESCRIPTION
HQ027 Natural Aluminium Box (without the gasket)
H: “ HQ027S IP67 RATING (with the silicon gasket)
HQO27EMS | IP67 RATING (with the silicon & Shielded gasket)

SECTION C-C

SECTION B-B

24



HQ029

LID
. 160mm  [6.299in ] o
< 146rm [5.748in ] — | SIX(E) MAX20 mm ‘
= t4enn [5591n ] | | [FUAT HEAD SCREWS 10005 [394tin]
120mm  [4.724in ] A
A
1! ‘ {0 e Jﬁ
A ¢ 5 |
I b =
S| < £ &
KISRIZ|B 5
oSS -2
=l EEEEE £
sl 225 S
5 3
3S 1 I 1mm [0.039in ]
5 ! 16 ilS) . 250rm [0.098in ]
\ [ 7 4 12.50mm [0.492in ]
! . ‘ -
\ - ijBNjim - kb 15mm [0.591in ]
! G -
—
BASE SECTION A-A
ﬁm[ﬁﬁﬁ - 40nn [1.575in]
—  l2nm [5.591n = 111.41mm[4.386in] - 8.50nn [0.335in]
- -— | L | 8mm[0.315in ]
' —D 120mm  [4.724in | — -— AT hos8in]
i 1 r . X | <aC Mmm . N
[ T r @ =) ix&
i i \ I + I =
S 2 ) =
P i N =
104 [4.094in ] AREEEEn <
[ I B Bl S f\r
NEGINENREES o
O RLS RIB|Z =
)| 8|~ |
£
N0 =5 panl
o 2l S EEIEIEIE -
QQQ\ %g DL B & aalaa =
e <K
2 pil [
N aalli
~ @ }’/ v “ || “
1, ) g
C
A
SECTION B-B
55mm[2.165in]
50mm[1.969in]
— ) T —|
<
& = ] R
1 ™
k = 1) FOURM) M4 x 20mm (0.787") LG. SCREWS
SUPPLIED FOR ASSEMBLY OF COVER 10 BODY,
= 2> ALL HOLE DIAMETERS HAVE +010mm TOLERANCE
& ALL OTHER DIMENSIONS HAVE $0.30 mm TOLERANCE
E, = V ITEM NO DESCRIPTION
| HQ029 Natural Aluminium Box (without the gasket)
SECTION C-C HQ029S IP67 RATING (with the silicon gasket)
HQ029EMS IP67 RATING (with the silicon & Shielded gasket)

25



HQ031

LID

26

— Tramis ™ SIX(E) MAXRO
L 146mm [5.748n] mn
. 42m [559ln] || /FLAT HEAD SEREWS 10009 [3941in]
120mm %,4‘784%, “ -— i . —
= I (7 i ]
¢ “ NG
- <
|| S0 Ns)
S| —|\D —
i il RS0 RS2
=235 =
2 2 S 5|S S
S D& &d| e D
= _ 1nm[0.039in]
| I & LT 250mm [0.098in]
1y @ S T 12.50mm [0.492in]
¢ Y , & o A 15mm [0.551in |
s
BASE SECTION A-A
4 160mm [6.299in - 65nm [2.559in]
- 146nm_ [5.748in o - 8.50mm [0,335in]
- l42mm [5591n - ‘ - 8mm [0.315in
- . [ 1eomm [4.724in ] ekl _g90nn [0.098in
- : : . E
it A g
= =t i
&3 = kyﬂ /‘ s “ “ " 3 “ %5
" M Ml T
| 104mn [4.094in ]
el < | < <
| ElS &
0L BIR=8 el
T ) S v Y 9 =
gg £l | | E| £ £
S8 e = P A =
Hill 2128 8s|s
(E V
o) 1
= ! :
] ‘
SECTION B-B
- o, 80mn [3.150in ]
- o /0 [2.953in]
L 11
' iplnip)]
ik
=ik 1) FOURM) M4 x 20mn (0.787°) LG. SCREWS
| £ SUPPLIED FOR ASSEMBLY OF COVER T0 BODY,
£ & 2) ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE

i

SECTION C-C

ALL DOTHER DIMENSIONS HAVE £0.30 mm TOLERANCE

ITEM NO

DESCRIPTION

HQ031

Natural Aluminium Box (without the gasket)

HQO031S

IP67 RATING (with the silicon gasket)

HQO31EMS

IP67 RATING (with the silicon & Shielded gasket)




HQO33

LID 200 [7874in]
186mm  [7.323in |
182mm ;7165%;
160mm  16.29%n |
1 Y |
RS-
~ |~
i
s — —
<
NS S
5f el
L {0
T o £ £ &
B8 < | cdlwo|lo
=% SYIRNSING]Res)
S aJdjcu| cu
— 01
|
44444(\\ Iy
BASE
200mm  [7.874in]
Bomm 17323n] 1. S|S
182nm_[7.165in | S
160nn_ [6.2991 ] Sl
b ele
28] = S ‘ “ “ “
EE % 9 i
2= [ 143nm [5630n] || A
1= 1] WS
I N I e |l
el Iy ¥
Y
- o 2omm[2165in]
o 20nm [1.969iN]
S 5
I ge
[
|
sectn c-c A A
SCALE 1: 3

EIGHT(8) M4XC0 mm
FLAT HEAD SCREWS

[0.59in ]
[0.492in ]

10.098in ]

[0.039in |

140.09mm [5.515in ]

— f——

£~
ﬂ\r
O, O,

: - A
<
[igp}
NS
A A o
0
= @iﬁ -
£
an
()
)
QU]
[Qu]

O\

|
I
e

é D% é é T
EN
A SN
! SECTION A-A
SCALE 1+3
-— < 40 [1,575in ]
— 8.50mm [0.335in]
— 8rm [0.315in |
151.41mm [5.961in] <2.50mn [0.098in ]
UL % 1|
@ + ]
g HED & :
-+ ! %
SECTION B-B
SCALE 1+ 3

1> FOURM) M4 x 20mm (0.787"> LG SCREWS
SUPPLIED FOR ASSEMBLY OF COVER 10O BODY,

2> ALL HOLE DIAMETERS HAVE *0.10mm TOLERANCE
ALL OTHER DIMENSIONS HAVE £0.30 mm TOLERANCE

ITEM NO DESCRIPTION

HQO033 Natural Aluminium Box (without the gasket)

HQO033S IP67 RATING (with the silicon gasket)

HQO33EMS | IP67 RATING (with the silicon & Shielded gasket)

27



28

HQO035

LID 4 200mm  [7.874in ] o EIGHT(8) M4X20 mm
— 186mm  [7.323In | - FLAT HEAD SCREWS
182nn_ [7165in | 140.09mm[5.515in]
160mm [6.°99in | - —
“ “ \ / i[5l
- [ € 5]
~ | <
e RSL
il s —
—— -
£l £ SERE A N
5|5 |l ] Ly =
T DR = = <
! SIS .
RS % £l £ £ a
S o) £] £] & =)
o2 A I QUIEN o] K | ——|——|— j—]
8 QUIRNGIRNG]Eee! I ) o
=< N OO D
3= D[S
\ ‘ ‘ olo|=le /| I
'—i R FEER: >
— v V v LI=IBR S|
- ol cd|— ~
1Y
T ST
W SECTION A-p
BASE SCALE 1+ 3
. 200mm [7‘874@ ] o e - - 75mm [2.953in]
186mm  [7.323in | SIS - 8.50mm [0.335in]
182mm_ [7.165in | e I 8mm [0.315in ]
160mm [6.299in | ] T ‘ 098]
7 ol e 148.96mm [5.865in] 29 (00980
[ ‘g ‘g e —
Gl A il |
ﬁﬁv = = “ “ “ =e A N Bl -
é § % ‘&g X “ “ - | + | - “ g
] 4 aillss +[F =
~|= [ 143nm [5.630in ] N A
= [l S ]
= S| 5|9 <
55 i 2| 22 =
—| = £ w _ Pl o) Pl L Ly 2 @
7" 4 £ 3 |-
1| i B EEEE “ &2 £
¥ES aalau| B BB 5
%cg [quiNqulNqu] e
S Y
aE ou
1. a1 il
‘ sl 1 % =00
f R 1 )
C C e
B SECTION B-B
SCALE 1:3
- o, 90mm_ [3.543in ]
- o 85mm [3.346in ]
S S
° == RIS 1) FOURM) M4 x 20mm (0.787") LG, SCREWS
oJ = = SUPPLIED FOR ASSEMBLY OF COVER TO BODY,
2) ALL HOLE DIAMETERS HAVE 20.10mm TOLERANCE
£ £ ALL OTHER DIMENSIONS HAVE 030 mm TOLERANCE
o | Co
ITEM NO DESCRIPTION
[ HQO035 Natural Aluminium Box (without the gasket)
‘ HQ035S IP67 RATING (with the silicon gasket)
: 7“ “ HQO35EMS | 1P67 RATING (with the silicon & Shielded gasket)
SECTION C-C
SCALE 143




